NOTE: PART MAY
A MIRROR IMAGE

BRONZE CASTING

5/16 S§S HEX SCREW\

BE

3716 SS HEX NUT

9/16 SS WASHER

COPPER FLANGE BONDING PLATE

EST WT 1.11#

APPROVED

THIS DOCUMENT AND THE CONTENTS
THEREDF IS THE PROPERTY OF

HARGER INC., AND IS FURNISHED TO C | WAS 2231/2 ECO 0195 [061019] LAL -
CJAS DRAWN: NP E IR INFORMA TION ONLY. e [B| _ADDED PRESS VALUE |122217|WBD| oRew &% REVISON:
: CONFIDENTIAL AND OF A PROPRIETARY |A NEW_DESIGN 071614 |LAL| LAL m@;‘m ™ c

AS NOTED: NATURE AND MUST NOT BE DISCLOSED |[LET REVISION DATE | BY [crecke Bv: | ZAT SCALE:
O : TO THIRD PARTIES WITHOUT THE TOLERANCES UNLESS NOTED: | 3RD ANGLE 301 ZIEGLER DRIVE 3/4
DATE EXPRESS WRITTEN APPROVAL OF FRACTIONAL ~ +/- 1/16 |PROJECTION ——— GRAYSLAKE, IL 60030 S

. HARGER INC. DECIMAL +/- .030 N ' 847) 548—8700 :
BREAK SHARP EDGES ~©& | 012400 (847) 1 OF 1

PART NO. CFBP

FLANGE BONDING PLATE



AutoCAD SHX Text
NOTE: PART MAY BE A MIRROR IMAGE

AutoCAD SHX Text
5/16 SS HEX NUT

AutoCAD SHX Text
5/16 SS WASHER

AutoCAD SHX Text
BRONZE CAP

AutoCAD SHX Text
BRONZE CASTING

AutoCAD SHX Text
5/16 SS HEX SCREW

AutoCAD SHX Text
EST WT 1.11#

AutoCAD SHX Text
A

AutoCAD SHX Text
NEW DESIGN

AutoCAD SHX Text
071614

AutoCAD SHX Text
LAL

AutoCAD SHX Text
AS DRAWN:

AutoCAD SHX Text
AS NOTED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
BREAK SHARP EDGES

AutoCAD SHX Text
DECIMAL      +/- .030

AutoCAD SHX Text
FRACTIONAL   +/- 1/16

AutoCAD SHX Text
TOLERANCES UNLESS NOTED:

AutoCAD SHX Text
THIS DOCUMENT AND THE CONTENTS THEREOF IS THE PROPERTY OF HARGER INC., AND IS FURNISHED TO YOU FOR INFORMATION ONLY. THE INFORMATION CONTAINED HEREIN IS CONFIDENTIAL AND OF A PROPRIETARY NATURE AND MUST NOT BE DISCLOSED TO THIRD PARTIES WITHOUT THE EXPRESS WRITTEN APPROVAL OF HARGER INC.

AutoCAD SHX Text
LET

AutoCAD SHX Text
GRAYSLAKE, IL  60030

AutoCAD SHX Text
301 ZIEGLER DRIVE

AutoCAD SHX Text
(847) 548-8700

AutoCAD SHX Text
TM

AutoCAD SHX Text
CHECKED BY:

AutoCAD SHX Text
REVISION

AutoCAD SHX Text
DATE

AutoCAD SHX Text
BY

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DRAWN BY:

AutoCAD SHX Text
1 OF 1

AutoCAD SHX Text
SHEET:

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
REVISION:

AutoCAD SHX Text
3RD ANGLE

AutoCAD SHX Text
PROJECTION

AutoCAD SHX Text
PART NO. CFBP

AutoCAD SHX Text
LAL

AutoCAD SHX Text
012400

AutoCAD SHX Text
-

AutoCAD SHX Text
FLANGE BONDING PLATE

AutoCAD SHX Text
C

AutoCAD SHX Text
3/4

AutoCAD SHX Text
-

AutoCAD SHX Text
COPPER FLANGE BONDING PLATE

AutoCAD SHX Text
B

AutoCAD SHX Text
ADDED PRESS VALUE

AutoCAD SHX Text
122217

AutoCAD SHX Text
WBD

AutoCAD SHX Text
C

AutoCAD SHX Text
WAS 2231/2 ECO 0195

AutoCAD SHX Text
061019

AutoCAD SHX Text
LAL


